Inscribed Angles

This diagram shows two ladders leaning against a building.

Each ladder is leaning at an angle of 70°.

- The length of the short ladder is 8 ft.

- The base of the longer ladder is 5 feet further from the base
of the building than the base of the short ladder is.

What is the length, to the neagestfoot, of the long ladder?
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What type of angle is angle x2
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What is the measure of angle x2
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What type of angle is angle y?
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What is the measure of angle y?2
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Ex 3. Find the measure of angle x.
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Inscribed Angles

Examples
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4. If mJK = 80°, find m 2JMK. +Q

5. If m 2 MKS = 56°, find mMS. -
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6. If MK is a diameter, find
mKS and mJM.
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Example 8

In ®J, mz3 =5xand mz 4 =2x + 18.
Find the value of x. Qo Q Gb‘b
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Homework Pg 16 and 17

Ex 7. If mzINS =41°, what is the mz£CRI¢

C_or\ay‘v\ent

£ CRT
L

Example 9
In ® K, mAC=100°, What is the mzCAT?2
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